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1. For each question, chocse the correct answer from among the four choces
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2. 3etore leaving the examination hall, handover the OMR answer shegt to the
Invigilator
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booklet.

5. Do not overwrite in the OMR answer shect.

6. Question Nos. from 1 to 30 are from English Language. The next 120 gquestions
e, from 31 to 150 are from the group subjects concerned.

7. bast guestion carries one mark. There wil be no negative marks for wrong
ANSWer,

8. Thecandidate s allowed to take away lhe guestion paper booklet along with him
after the compistior of tho cxamination.
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ENGLISH

I. Read the following sentences and answer the questions that follow. Choose the
right answer and mark it.

1. 'He said it expanded his lungs’. The antonym of ‘expand’ is
(1) Unfold (2) Contract {3) Spread (4) Loosen

2. 'Did you get up early this morning’ ? What par ot speech is the word ‘early’ ?
(1) Adjective {2) Preposition (3) Adverb (4) Verb

3. ‘| kept them quiet for ten minutes’. The antonym of ‘quiet’ is
(1) Noisy (2) Calm (3) Complete (4} Cry

l. Study the bar graph given below and answer the questions. Choose the right
answer and mark it.

RUNS SCORED BY DECCAN CHARGERS IN THE LAST OVER OF A T20 MATCH

8 —t
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6+ —
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T 4T B B
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2l
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0 i
First Second Third Fourth Fifth Sixth
Ball Ball Ball Ball Ball Ball

4. Maximum runs were scored in the
(1) Secondball {2) First ball
(3) Sixth ball ' (4) Fourth ball
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5.

6.

How many runs were scored in the fifth ball ?
(1) 6 (2) 4 (3) 0 (4) 2

What are the two balls in which the batsmen scored the same runs ?
(1) Firstand Second balls (2) Firstand Sixth balls
(3) Third and Fifth balls (4) Second and Third balls

. identify the proper order of the following sentences and mark them. (The first and
the last sentences are in the proper order.)

7.

1. Hi, Cherry, how are you ?
Well, 1 play a lot of sport.
| like shuttle badminton.

A< A

Hi, Abdul. I'm fine. You look very fit and healthy. What do you do to keep
yourself like this ?

o

What sport do you like the best ?

6. Yes|do.1gorunning in the morning at least five days a week. Are you interested
in sport too ?

7. Do you ever go running ?

8. Yes. | like swimming. | swim everyday without fail.
(1) 1,4,2,5,3,7,6,8 (2)1,3,4,6,2,5,7,8
(3) 1,4,5,3,7,2,6,8 . {4)1,5,2,3,6,4,7,8

Who is the author of “Mother's Day : One-Act play” ?
(1) W.R.Inge (2) J.B. Priestley
(3) Shiv K. Kumar (4) Stephen Leacock

. George Orwell's ‘Animal Farm' is marked by a profound awareness of

(1) Equality (2) Liberty
(3} Social Injustice (4) Fraternity
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

-20.

The novel ‘Animal Farm' shows how power corrupts too.
(1) Men (2) Animals (3) Birds (4) Insects

“Then you can sail away be happy”. In which poem does this line appear ?
(1) Equipment (2) The Giving Tree
(3) Harvest Hymn (4) Bullinthe City

Choose the word that has the same meaning as the expression given below.
“ That which can not be conquered”.

(1) Invisible (2) Infallible (3) Inevitable (4) Invincible

‘Lots of assembly-line jobs will Vanish™. The synonym of ‘Vanish’ is
(1) Disappear (2) Appear (3) Found (4) Seen

Identify the part of speech of the underlined word.
“The search became a mania with me”

(1) Adective  (2) Noun (3) Veb - (4) Conjunction

Identify the number of syllables in the word “around” (around)
(1) Mono (2) Di (3) Tri (4) Poly

Which letter is stressed in ‘Volunteer' ?
(1) Vv (2) L 3) E 4T

Identify the silent letter in ‘subtle’.

(1) s (2) b (3) t (4) 1

Find the word that is different from the other words in the group with regard to the
sound of the underlined letters.

(1) Change (2) Character (3) Cheap (4) Chance

Identify the right word for /KJut/
(1) Coat (2) Kute (3) Cute (4) Cote

Supply the missing lefters to complete the spelling of the word “Anc . _tral”.
(M i, s (2) e, s (3) u, s (4) s, e
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IV. Fill in the blanks with suitable answer.

21. After working so hard he didn’t deserve to fail in the exam,
(1) doesn'the?

(2) Didhe?

22. Yesterday at this time all of us

(1) watched

23. The objectis to prevent him

(1) for

(2) from

24. Therose is prettier than _

(1) Noother

25. You must cure me

(1) of

26. Each of the boys

(1) were

(2) at

(2) was

27. There was a man

(1) which

28.
(1) A

(2) when

injured were immediately taken to the hospital.

(2) An

(2) arewaltching

(3) Don'the?

(4)

Is he ?

(watch) the cricket match.

(3) hadwatched

failing.

(3) in

flower.

(2) Anyother

(3) More other

this horrible iliness.

(3) in

given a chocolate.

(3) has

was very greedy.

(3) who

(3) The

29. Mark the part of the sentence that has an error.
Sunanda was wearing a pink pretty saree.

1
(1) 1

2
(2) 3

3

30. The teacher will come when the bell

(1) Rings

Course Code -1

(2) Rang

(3) Noerror

(3) Ring

[5]

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

4

were watching
at

Most other

for

have

why

No article

Had rung
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32.

ECONOMICS

From the below, what are the features of ‘Economic Commodity’ ?

(1) Nature given, no price (2) No production cost — no price
(3) Scarcity, price (4) Allthe above - -

Ba 208 TeIE @8 By oFFTO

(1) ©5S ©HTdB0, &5 dotith (2) &ty Som0 Gotsy, S8 &otis
(3) Sos, o6 (4) b3y

Which is the ‘wealth’ from the below ?

(1) Money (2) Shares

(3) Land and Buildings (4) Allthe above

55 208 Te3E° oSS 9
(1) &sp (2) Teren (3) sorin, aisTen (4) 1Yy

When the total utility increases with decreasing rate, then Marginal Utility ?

(1) Increases (2) Decreases

(3) Constant (4) Increases with decreasing rate
o0 BEIIERs0 BIHEK DERE DEMSLKEINE 0B HAlreEso

(1) Borsoed (2) avomood

(3) &or eotod (4) H0% Bers' DEHEOO

If, the ‘X’ and 'Y’ are substitute goods, if the price of the ‘X’ decreases, then the
demand for 'Y’

(1) Decreases _ (2) Increases

(3) Constant (4) None of the above

A 20005 Y e EEEred Sayen wod X 6 BARIE Y Asros

(1) smsued (2) weorosood (3) 20 (4) 23D s

@
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35. The demand curve with perfect elasticity will be

(1) Left to right downward sloping (2) Leftto right upward sloping
(3) Parallel to X’ axis (4) Parallel to 'Y’ axis
SO TE e o G3rob B

(1) 230 500d 5628 2odd D eotod (2) 50 Bo0d £:d2 PE T doenod
(3) X e ssronto (4) 'Y eoxdi saronso

36. If the demand curve is with ‘Rectangular Hyperbola’ shape, then the elasticity of
demand is an equaito

(1) 1 @) >1 @) 0 @) <1
&3550E B ‘oo 9dBoSeao’ exsvdol” iy Aol TS N0

(1) 2=z 555%0 (2) 253%632%5
(3) ¥o (4) esedso8 B
37. The ‘Budget Line’ is also known as
(1) Price Line (2) ProfitLine (3) LifeLine (4) PropertyLine
‘G5 Ba' S8
(1) 539 (2) ool (3) 22009 (4) =232

38. The consumer will be in equilibrium position, when the
(1) Budget line condemns the indifference curve
(2) Budget line is tangent to the indifference curve
(3) Budgetline is above to indifference curve
(4) Budget line is below to indifference curve
B 208 506t08" IDDFATEED SSoFepd’ dotr
(1) o3eSde eoiss 58t podolSSp:
(2) DgeSdp arrbisn SEBHDH O™ e
(3) 250 st SEBPL S &Sy
(4) 0o e SEP AIDD &P
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39. The relation between the inputs and output is known as

(1) Producﬁon Function (2) Price Function
(3) Trade Function (4) Utility Function
B3 &S TETO SO HOROGOR B0 ?

(1) e8d3oo (2) 5500

(3) Feedesg oo (4) v Hoo

40. In perfect competition the Marginal Revenue (MR) is
(1) Equalto Average Revenue (AR) (2) Morethan AR

(3) Lessthan AR (4) Less than price
Sosgyy FedS® adros oowd

(1) 2Kt Todd S5m0 (2) o ool Hodd DXy X
(3) Driewo oreacs Hodd B85 (4) &6 508655

41, ‘Selling costs’ is the specific feature of the following market

(1) Perfect competition ~ (2) Monopoly
(3) Monopolistic competition (4) Oligopoly
S Sgosren Bob 558),¢5 BB ofro

(1) Sorg e (2) Dedyine
(3) DsRrgo; el C(4) seusRrgap

42, 'Duopoly’ means

(1) Only two firms (2) Limited firms

(3) Large number of firms (4) Nofirm

‘BT aSt0 oS

(1) =50 eiomthoen (2) 26208 eSoForrtion
(3) 2 Sogyd’ etagonton (4) Roes soiy
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43. According to the Marginal Productivity Theory of Distribution, the price of any
factor of production depends upon its

(1) Marginal Productivity (2) Average Productivity

(3) Total Production (4) AverageRevenue

&0l Gy Boded DIpoKo B5U0 &.5 G S0 g, 666 &4 Eob T} B
(1) &0 somsss (2) e eamesss

(3) Do esnd (4) SHevoad

44. ‘The Classical Theory of Rent’ was put forward by

(1) Henry Carey (2) David Ricardo
(3) Briggs (4) Jordan
SOREPA LS ACROHO’ 5 BEUNE
(1) oosd (2) da&ome
(3) & (4) &S
45. National Income when divided by total population of nation is known as
(1) Percapita Income (2) Personal income
(3) Disposable Income (4) None of the above

2 BOXrTranot B8 e gPhcET Sind

(1} Bo3d errabo (2) Sgesorobo
(3) 00t woao (4) 350 =&
46. InIndia, National Income is estimated by
(1) Central Statistical Organisation (2) Reserve Bank of India
(3) Finance Commission (4) Planning Commission

ArGBOH0S" ePSBOHEON0P) SODT AT
(1) Bogs Hewo¥ o (2) 2redaDd Bty eretd
(3) epesomo (4) Berds oo
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47. “Supply creates its own demand” was proposed by whom ?

(1) Karl Marx (2) J.M.Keynes
(3) J.B. Say (4) J.R. Hicks
B0 S5HEH EXTobiSs HReaotned) el BITRODHE JHCH ?
(1) =Bxurfy, (2) 8 5. 45
(3) 8.8.% (4) 2.e30. 25§,

48. 'Effective Demand’ means
(1) Aggregate Demand = Aggregate Supply
(2) Aggregate Demand > Aggregate Supply
(3) Aggregate Demand < Aggregate Supply
(4} None of the above

‘53"%% Aol ensme
(1) Bdsrek = 3DopBHaw (2) Sup&arol > By vgon
(3) Spdsrok < DK THG (4) P>
49. ‘The double coincidence of wants’ is the necessary condition to run the following
system.
(1) Barter system (2) Metallic money system
(3) Paper money system (4) Plastic money system
15730 B0 DR05000" et $ob B SETRE SRIT0 o
(1) 3R 508a 999 (2) S @ S99
(3) 2 Gag0 g7 (4) 28 5550 B9

50. Which of the following is the controller of credit in India ?
(1) State Bank of India (SBI)
(2) Reserve Bank of India (RBI)
(3) Bank of Credit (B.C.)

(4) NABARD
BRSHOHOS DG DaboEhey DAHNHG
(1) SBl (2) RBI (3) B.C. (4) NABARD
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51.

52.

53.

Economic development includes

(1) Increase in production

(2) Eradication of absolute poverty

(3) Reduction in unemployment level

(4) Allthe above '

@{gs"é):buygéa Eob 080/ eomme) &osTo) |

(1) &88E psise (2) oy w505 By
(3) &0 ;3);0.1355 BRSO (4) 235

From the below, which is not the characteristic feature of developing countries ?

(1) Scarcity of capital (2) Predominance of agriculture
(3) High incidence of poverty (4) High percapita income

5= 00 T3 DA Doty BT 0fro N8 ?

(1) 8203 Soresso (2) By don s

(3) 25, oo (4) 05 B30 earraXo

India’s ‘Economic Reforms’ includes

(1) Liberalised industrial licencing policy

(2) Removal of restrictions on Foreign Investment
(3) Providing more space to private sector

(4) Alithe above

et eags' RO EEes EOA &5 eodo /woTmen

(1) S5 2gwo B6R50e

(2) 288 e p ok Sohcd)

(3) @oaden sorrdd ue b

(4 w5
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54.

57.

From the below, which is not the feature of globalization ?

(1) Imposing restrictions on the movement of labour between the countries
(2) Permitting free flow of technology between the countries

(3) Permitting free flow of goods among the Nations

(4) Permitting free flow of services among Nation States

&3 800 538" (3500558 00 5208

(1) BFe 3¢5 T2 8680 P wogen oo

(2) Bare 50¢5 O3B 00 BSoPH wkaBBoBe0

(3) Tavo oS e BeOoYR ervSsdoteo

(4) D7 Sug Do BEDOYHW BiBdobe

The United Nations Development Programme (UNDP) has prepared its first Human
Development Report under the stewardship of

(1) Prof. AK. Sen (2) Prot. Mohbub-ul-Haq

(3) Prof. Mansoor Ahmed (4) Prof. M.S. Ahluwalia

D50 TODEEOE DETRECIA GHE TEE0 8D 2ced SFFTHING SROES HIrED J00b ?
(1) eoga3 8 (2) woogmrard-ed-8

(3) soopmsmbemb (4) sTC; 0. N oSyTdar

As per 2011 Census, the female literacy rate in India
2011 ey 08,0 S50 5rB88H08’ 40 SFTRG TH0 ?
(1) 74.04 (2) 8214 (3) 65.46 (4) 1668

The share of the primary sector in India’s Nationai Income

(1) Has been declining (2) Has been increasing

(3) Has been constant (4) Increasing with increasing rate
APEEE BT aoS” AL Soko e

(1) ESoore srgd (2) ESom wHEHD

(3) Do & (4) tmED, Bend® DRSS
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58.

59.

61.

Mahatma Gandhi National Rural Employment Guarantee Scheme was launched in
the year

BoSfEYTed 2B R AR S BP0 o0 SedEso
(1) 1976 (2) 1999 (3) 2006 (4) 2012

The largest employment providing sector in India is

(1) Agriculture (2) Industry

(3) Services (4) Handloom industry
APEBOFOS” DS R S talo

(1) sgdaso _ (2) somses

(3) e (4) 58 58@0

Among the following crops, which is the highest yielding crop in India ?

(1) Rice (2) Wheat (3) Pulses (4) Maize
| PPOBOEOE" 5,5 SEPYSESR ¥ 506
(1) =0 (2) Reos (3) syporgen (4) 205,85

From the below, which is not the cause for the low productivity in agriculture
in India

(1} Poortechniques of production

(2) Dependence on rainfall and monsoons

(3) Low irrigation facilities

(4) The large size of land holdings

541300 Te3E" aroilEos” SpSral SR 82 S doterdd 0650 T
(1) eagts 8 egyd xeioen (2) sooospYabo

(3) osys Deddtie FsorEn (4 ug somes
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67.

Abolition of Intermediaries, Tenancy Reforms and Ceiling on land holdings are part
of '

(1) Green Revolution (2) Land Reforms

(3) Economic Reforms ‘ (4) Globalization

BogsgSee Sehoss, Teo Soky,ne, 20 58058 Doy Jncertind Eod D eodod’ 57Ko ?
(1) o8 2550 (2) arsodsmes  (3) eggmab&m (4) @sobste

NABARD was set up in the year

NABARD (7rer§) 2 J500% Soseto

(1) 1972 (2) 1982 (3). 1990 (4) 1935

Industrial Policy Resolution which is known as New Industrial Policy was spelt out
in the year

BT TOF T DTRO' T DS TOFY DT SOSOR s JT ?

(1) 1948 (2) 1956 (3) 1977 (4) 1991

From the below which is not correctly matched

Eod TeIE S st
(1) 1948—IFCl (2) 1951-ICICI  (3) 1964—IDBI (4) 1990-SIDBI

Service sector includes

(1) Trade (2) Hotels (3) Banking (4) Allthe above
Eod T3S’ Lo Goro HBHSE SHB /5D |
(1) @0 (2) e (3) e (4) 2%,

In which five year plan the term ‘Inclusive Growth' was uéed first time 7
(1) First (2) Fifth (3) Tenth (4) Eleventh
BT D SoSY HETOLE’ DI’ K50 ASAFATRECE ?

(1) el (2) esaness (3) =63 (4) 36550ss
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69.

70.

In Andhra Pradesh State, Balanced Regional Development became one of important

objectives from the
(1) Firstfive year plan onwards (2) Second five year plan onwards
(3) Third five year plan onwards (4) Fourth five year plan onwards

SOGHET TPeS" D 5o (HerdE Sood SotudE ProBairdQ BT oxed’ e.slm 37800 ?

(1) 2oocses (2) Do (3) mares (4) oo

From the below, which are the sources of Air Poilution ?

(1) Vehicular emissions, nuclear tests

(2) Deforestation, mining

(3) Buming of fire woods, industrialization

(4) Allthe above

B4 God T3 oo Seoilsdd S0 eaind

(1) Tareo 588 Sgpes, wewn o5 (2) wcHosoLds, plwro d03dsS

(3) Qx> seneo, TBE Dodste (4) 22

“Meeting the needs ot the present without compromising the ability of the future
generation to meet their own needs” is known as

(1) Sustainablé Development (2) Balanced Development

(3) Human Development (4) Inclusive Development

PG BT OSHT08 SHE’ som§>5 598 B850 @S0 ST B DO Devd: ?
(1) SrRowr®h et (2) Somobs edng

(3) ArSTHNG (4) 20,06 efHd
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HISTORY
71. How many ‘puranas’are there ?
DoETes O ?
(1) 16 (2) 18 (3) 14 (4) 15

72. Which is the animal does not know Indus Valley people ?

(1) Cow (2) Ox (3) Horse (4) Goat

R0% TS (Pezo> BOADD 2080 I ?

(1) e (2) 5 (3) o (4) 3o
73. 'Triratnas’ are associated to which religion ?

(1) Jainism (2) Buddhism (3) Hindureligion (4) None

SETHE0 D B0z SowododBd ¢

(1) 8o (2) &go (3) Irocrase (4) 58T

74. In which State Sanchistupais located ?

(1) Uttara Pradesh (2) Madhya Pradesh

(3) Arunachala Pradesh (4) Andhra Pradesh

Fron B3e O Tod” Kol 9

(1) &ssEas (2) Socss 08 (3) eooeroe D (4) cogswds

75. Where the 4™ Buddhist convention held ?

(1) Pataliputram (2) Rajagruha (3) Vaishali (4) Kundalavanam
TR0l e SSTE0 2Hge> wBhod ?
(1) edygo (2) ownyr (3) 39 (4) Hocesso

76. Which is the official language under Satavahanas ?

(1) Sanskrit (2) Prakrit (3) Paisachi (4) Telugu
TETIR00 Tood” O 5PAD8 ?
(1) Bosyvo (2) %o (3) d (4) B
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77. Inwhose period Fahien visited India ?

(1) Chandragupta —| (2) Chandragupta—Hl
(3) Kumaragupta (4) Samudragupta
I8 T’ SErArS GrESOT R Dot ?

(1) oocsed Bogsrbcs (2) Docss SOy
(3) Lsrsoys (4) SRoEKRE

78. Who was the king had title of “Mahamalla” ?
(1) Narsimha Varma -1l (2) Mahendra Varma— I

(3) Narsimha Varma - | (4) Mahendra Varma — |
2 5508 BoFRY’ e B Sk ?

(1) Do SoRost 35, (2) Bows 3oiros 55,
(3) Boosed SERoDe 58, (4) oesed solro 56,
79. How many Mahamoksha Parishads conducted by Harsha ?
2D D BTFATE OB VPO 9
(1) 4 (2) 6 (3) 5 (4) 4

80. Who was the Sindhu ruler, during the Arabs conquest of India ?

(1} Dahir (2) Jayasimha (3) Sukapala (4) Anandapala
e ZEE0Y SoGarrBTrad otk TRIres: I3 7

(1) =36 (2) escHdbon (3) oprenc (4) esSosrus

81. Who was completed the construction of Qutubminar ?

(1) Qutubuddin-i-bak (2) Mltutmish

(3) Firozsha ‘ (4) Balban

$:8:25200 JoryErly M98 177G Watth 7

(1) DmenbdonE  (2) afendinh (3) »&&Ex (4) ey
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82. Who was the founder of Bahumani empire ?

(1) Mahmmad Shah (2) Firozsha
(3) Bahuman Sha (4) Ahmad Sha - ||
2ITOR0 JEIg) S5 JROTES 7
(1) sombr (2) 28 (3) exsosos (4) Bocsembdx

83. Who introduced Mansabdary System ?

(1) Babar (2) Akbar (3) Jahangir (4) Shahjahan
ST DT DB SIF0ePD ?
(1) erwb (2) o%b (3) exsofib (4) oS

84. Inwhich year Purander treaty was agreed ?
2 301508 HB0EE Hof LEEHTH ?
(1) 1665 (2) 1664 (3) 1660 (4) 1666

85. Who introduced subsidiary alliance ?

(1) Warren Hastings (2) Caran Wallies
(3) Wellesly . (4) William Bentic
RSy KT HEHD IS0 IR 9

(1) =35 irdof (2) =55795 (3) 2o (4) DBavo Boeds

-86. Who compile Sikh’s holy text “Adigrandh” ?

(1) GuruNanak (2) GuruRamdas

(3) GuruArunSingh - (4) Guru Govind Singh
29,0 B WHOE50 “esBiioh s D55t E'AEBoTw 2

(1) ook (2) oSS

(3) 105 xS 50 (4) 7o R of
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87. Who re-occupied Delhi at the time of 1857 revolt ?

(1) SirHugh Rose - (2) Nicholson
(3) Henry Lawrence (4) General Havelock
1857 Storberen 3500:008° GO J5tH HVOEDoMETND 7

(1) BSwEn (2) 230y (3) O oS, (4) exsEsSes

88. Who established English News Paper “Indian Mirror” ?

(1) 'Kesava Chandra Sen (2) Eshwara Chandra Vidya Sagar
(3) RajaRam Mohan Roy (4) Devendranath Tagore

“RoA0IS PEE" & esolf SGEK IS THoTE ?

(1) 3485 Sos vS (2) &% Sois ogrid

() o oHarssSoch (4) Sdogswo b

89. Who was presided First Indian Nation Congress Session 7
(1) A.O.Hume - (2) Umesh Chandra Benerjee

(3) Bankim Chandra Chatterjee (4) Dadabai Nouroji
54550 &8 2 BAD SPORR SEFITE JHEH exSE SO ?

(1) AD. oo (2) edBsogasd (3) modosorsed (4) woerad I

90. Which day observed “Khilaphat Day” ?

(1) October17  (2) September17 (3) November17 (4) August17
D B0 Hernd Ao el 9

(1) 5517 (2) wyows 17 (3) x0wE17 (4) o517

91. Inwhich year Turks occupied Constantinople ?
» DOIOE” Bothiin, oo TSP oeSHE SRTHRY eaE0BETN ?

(1) 1458 " {(2) 1453 (3) 1463 (4) 1473
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92.

97.

Who was first translated Bible into German language ?

(1) JohnCalvin (2) MartinLuther (3) Chasar
DG Se3TOrT BN w3t erHE S BLSF D> ?

(1} =585 (2) 35>pS oreh (3) o6

In which year Jesuits society established ?
9 ponsos® Bomged S5rmo %“Z:oba:d?é& 9

(1) 1534 (2) 1524 (3) 1514
Inquisition associated with
(1) Catholic church
308235 BOS Sonofodsd 9
(1) =gesuy (2) &aroei gy (3) =8eo

Who is the greatest Burban ruler ruted France ?

(1) Henry IV (2) Louis Xill (3) Louis XIV
ow) BTy SOTDODNS Ay 2aTtf)d SoT0E DolS ooar 56> 7
(1) = IV (2) oran Xl (3) oran XIV

Frederic, the great associated with

(4)

(4)

(4)

(2) Protestant church
(3) Calvinism (4) Anglicanism

(4)

(4)

(4)

(1) Russia (2) Prussia (3) Austria {4)
(508, & FleS &3 30d 708 DodSrcs

(1) & 2) &x5 (3) wpow (4)
In which year Boston Tea party held ?

(1} December 1773 (2) November 1773
(3) December 1772 (4) December 1774
538 ¢3 3G vosoes O Sorsos® BoRse

(1) &ooxb1773 (2) 20261773

(3) Eob1772 (4) &nob 1774

Course Code -1 [20]
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98. Who repeated the words “After me, the deluge” ?

100.

101.

102.

(1) Louis-XV1 (2} Louis-XV (3) Louis XV (4) Henry IV
Dorer ' T BETN (HAD0 SR8 90 BB ST

(1) 165or>  (2) 155erawr (3) 14 seorayr (4) 430

Who wrote the book “Social Contract” ?

(1) JohnlLocke (2) Voltaire (3) Rousseau (4) Montesquieu
“PoE oleTE Yo S50 D5 7

(1) =SrE (2) Sgw (3) urF (4) Sroddam,s

“Directory” rule in France

Prep BT ZOKD SOTHoN 00 36 ¢

(1) 179599 (2) 1791-92 (3) 1789-91 (4) 1792-95
Nepolean Bonaparte followed Continentat Policy to suppress the following country
(1) Austria (2) England (3) Prussia (4) ltaly

O T FonBBEDerdE SIOALS S50 Lrped Jriy esnbon 7

(1) egav (2) =ormocs (3) &g (4) =ed

Who presided Vienna Conference in 1815 ?

(1) Metternich (2) Zar Alexander
(3) Frederick William-Ill (4) Talleyrand
1815 3016" 228A% Jomy SErST08 JiSE> sl Sromh 7

(1) oetnd (2) erbedpoch
(3) Baress 3ol 2&avo (4) erbood

Course Code— 1 [21] (P.T.0.)
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103. In which country Industrial Revolution first started in 18" Century ?
(1) Gemany (2) Mlaly {3y England {4) Russia

1835 %@go@sma@ 2 BF08" BFAWE DI oL ?

(1) e (2) =ed (3) =morpocs (4) oy

104. Who established "Young ltally” ?
(1) Count Cavour (2) Vincent Geobardi
(3) Garibaldi (4) Mazzini
“aboh 50" & Dot B FhoTH ?
(1) ToeTsb (2) HpoeSEcdred
(3) ™oed (4) S8
105. “The great question of the day will not be solved by speaches and majority resolutions
but by blood and Iron”. Whose slogan is it ?
(1) Otto Von Bismarck (2) William-I

(3) Frederic William |V (4) CountCavour
“305D Sk B0 do ESTEE, Sureriod SoEE’ 8. esoiiugod, ed Dodod Gy
SIS0 &b, B4 D0 JS68 2 '

(1) es*>Sarg, (2) Bo0csed Do

(3) Trewrs etk 28oXo (4) ToSE55

106. Inwhich year China Communist Party established ?
D Bondos® PR EH Ry 3“’@ ;fz;’uboa‘.f)a:»&‘n‘i& 9 |

(1) 1920 (2) 1921 (3) 1931 (4) 1930
Course Code -1 [22]



107. Inwhich year Japan occupied Manchuria ?

D oo’ 227 SooBIBONS) exEotonsd ?

(1) 1930 (2) 1831 (3) 193 (4) 1833

108. Who was the last ruler of Russia ?
(1) Alexander-| (2) Nicholas-I
(3) Alexander-I| (4) Nicholas-ll
B350 DBTDODS WS DESE M50 2
(1) 2wocsel exdrpocsd (2) 200563 28°0%

(3) Tocss wdoch (4) Dotss IS

109. Inwhich year the League of Nation established ?

bsoucsoes‘mee@aw:@o:saasm
(1) 1920 (2) 1919

(3) 1921 (4) 1922

110. Who s the present Secretary-General of U.N.O. ?
(1) Khofi Annan (2) Uttant
(3) B.B.Gali {(4) Baan-ki-Moon
B8 o TPeg SI0B DRV - 258G IS 7
(1) Sens (2) otweroes

(3) 8.0 (4) &5-8-5.75

Course Code -1 [23) (P.T.0)
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111. Who acted as Chairman to the drafting committee of the Constituent Assembly ?

(1) Jawaharlal Nehru (2) B.R. Ambedkar
(3) Rajendra Prasad (4) C.R.Gopalachari
TPezgolf Sa0Pats 506 e9Sideio D58 7

(1) sxsbordago (2) 9. esb. eoiies b

(3) oo b (4) 2 b Faocd

112. The Constituent Assembly of india held its first meeting on

(1) January 26, 1948 (2) August 16,1947
(3) November 26, 1947 (4) December9, 1946
2O TrePgol S0 Boacsed B3FE80 N Wl ?

(1) w550 26, 1948 B (2) extip16,1947

(3) Sisowds 26, 1947 (4) &»owh9, 1946

113. The Cdnstitution of India contains |
(1) 9Schedules (2) 8 Schedules
(3) 12 Schedules (4) 10 Scheduies
RS Targoltsnd” Iy BETwEs &inD 7

(1) 9veres (2) 8 ewgey (3) 12usmey  (4) 10uErey

114, The Parliamentary System of Government in India is based on

(1) Britain (2) France (3} USA (4) Canada
PSS U080 @R0BS EFESHVL OB DB ?

(1) @S (2) @y (3) ewbs (4) e

Course Code -1 [24]
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115.

116. Who proposed ‘Popular Sovereignty’ ?
(1) Hobbes (2) Locke
(3) Rousseau (4) Austin
(e TCETATOS S EEISED IS5 7
(1) =5 (2) of (3) &
117. Who wrote the book ‘Potitics’ 7
(1) Aristotle (2) Laska (3) Plato
038y (oGS ¢ 9
(1) wod  (2) oy, (3) o
118. Which one of the following is not the union territory ?
(1) Arunachal Pradesh (2) Lakshadeep
(3) Andaman (4) Puducherry
B2 1208 TOE 06 Soards oo 5k 2
(1) etorrnd $a8 (2) o585
(3) wowsars (4) Ded®
Course Code -1 [25]

The Prime Minister is the Chairman of
(1) Planning Commission

(2) Union Public Service Commission
(3) Finance Commission

(4) Minority Commission

OB BTS00 B4 1808 T BIE exiHid ?
(1) SerdsBodo

(2) onrdans 355 60 SSS

(3) es8% oo

(4) Qe Soonm

(4) esps

(4) Socrates

(4) eSS

(P.T.0)



119. The Vice President of India is elected by
(1) Members of the Rajya Sabha
(2) Members of Lok Sabha
(8) Members of the both the houses of Parliament
(4) Members of State Legislatures '

BT G Spcid 350 Db D3pSe0cioto 7 '
(1) oresger sages (2) Seserseogs
(3) oot deosd Hese Begen (4) oo ehod dede

120. The Joint Sitting of the parliament is presided over by the
(1) Prime Minister
(2) President
{(3) Chairman of the Rajya Sabha

(4) Speaker of the Lok Sabha
TER006 B0l SEIHRDE D500 xS I 9

(1) gosso®  (2) ops (B) capepgS  (4) Swaysd
121. Whois the Supreme Commander of the Armed Forces of India ?
(1) President (2) Prime Minister
 (3) Defence Minister (4) Home Minister
| OEOEANE"D 2IE S S8 OB ISt 7
(1) g9 (2) @ o
(3) cgrr oo (4) Fo b0

122. The preamble was amended by the

(1) 24amendment (2) 42amendment
(3) 44™amendment (4) None of these
T 5365 T Trerol (8 $500Sedol ? '

(1) 243, 5366 (2) 4235, 5560

(3) 443, 5500 (4) 2 DENA DB =

Course Code -1 [26]
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123.

124,

125.

126.

127.

Fundamental Rights are described in

(1) Part lll of the Constitution (2) PartlV of the Constitution
(3) Part Vi of the Constitution (4) Part X of the Constitution
RS TE,e0 O ePHSE” @raedisd ?

(1) orarpEmsnd™ 3 &, arrs (2) Temonsnd™ 435, ritin
(3) CarpEAsRET 6 B, grriy (4) oarERand™ 105, grmiw

The President of India is

(1) Head of the State (2) Head of the Government
(3) Both (1) and (2) (4) None of the above

BICS TF3S

(1) oemgsd (2) webeyend

(3) Boch orargQdG BoBahn EEOTRDS (4) D DEYIEDID DD

How many types of emergencies are envisaged by the Constitution of india 7

(1} Two (2) Three (3) Four (4) Five
2TOE TaTONS0) (I57E50 I S50 eSS HORBOB &y ?

(1) Boo (2} Sorei (3) =eoro (4) =

Who wrote the book “My Experiments with Truth” ?

(1) Marx (2) Gandhi (3) Ruskin (4) Mill
Do A5BR00eS DS LTE” KOEES IS ?
(1) sy, (2) o (3) &S (4) 28

The Greek word ‘Polis’ refers to

(1) Politics (2) State (3) City (4) City-State
'TOL e (D Beso B RrDes ?
(1) cedsTe (2) ooegso (3) sKsR® (4) ST

Course Code -1 (2N (P.T.0.)
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130.

131.

Who of the following is Ex-Officio Chairman of the Rajya Sabha ?

(1) The President (2) The Vice-President

(3} Prime Minister (4) The Speaker of Lok Sabha
&2 $oB TOE oresg TeT PGS 256 2

(1) oges (2) asoged

(3) @ors oo | (4) Scaylyeb

The maximum strength of the Lok Sabha envisaged by the Constitution is

TrePsoRiio B §5es NORHLb Sops Job 7

(1) 552 (2) 550 (3) 530 (4) 525

The maximum gap between two sessions of the parliament is
(1) Sixmonths (2) Three months

(3) Seven months (4) Eight months
TERCEN GO SSTDT Bag5s KO TS S556 Job 2

(1) estoRoe (2) Sort Do

(3) e> does (4) 29958 Do

The term of the member of Rajya Sabha is

(1) Whole life (2) Five years

(8) Six years (4) Fouryears
sy 98050 SOy

(1) o8sezn (2) =X SodenTen
(3) esth dosETren (4) Teorh SobtnSsw

Course Code -1 [28]
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132. A money bill is introduced in

(1) Only Lok Sabha (2) Only Rajya Sabha

(3} Either house of the Parliament (4} Inajoint sitting of the both houses
€35 Depoiso Boocsed ) S ST ?

(1) &zt (2) ceged’

(3) B Se0d BISHT (4) Boc: e oot SHIRELS’

133. Which of the following proposed the ‘Theory of Separation of Powers’ ?

{1) Bodin (2) Laski (3) JohnlLocke (4) Montesquieu
ETE S, LEFOBR) I BHTO0TE 7 '
(1) &5 (2) o, (3) =Serk (4) Srokirg
134. Who wrote book ‘Das Capital’ ?
(1) Green (2) Kar Marx (3) Gandhi (4) Mill
‘T TS (oS B 585 2
(1) AS (2) sedarhy, (3) ned (4) S
135. “Man is born free, every where he is in Fetters” said by
(1) Laski (2) Barker . (3) Rousseau (4) Austin
ARSI Ry 20t BETE SEEHE” 20R0T” e IS0 DTN ?
(1) oy, (2) =6 _ (3) ori¥ (4) e
136. Which among the following is not the feature of State ?
(1) People (2) Territory (3) Sovereignty (4) Indivisibility
B4 (800 TNE" DB TresgH0 Claok), OFENS0 51 ?
(1) Sesew (2) s (3) ToTardnn (4) oderug
137. Which one of the countries does not possess a written Constitution ?
(1) India (2) France (3) USA (4) Britain
521300 TS D G506" OPB TR 850 2 |
(1) sodas (2) &% (3) savow (4) @es

Course Code -1 [29] (P.T.0.)
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130,

140.

141.

142

143.

144,

In democracy the final authorities rests with

(1) Parliament (2) Prime Minister (3) President
BErgioped’ eodibs efEEEn J50 DSE dotvod ?

(1) dgmon  (2) poomog  (3) ogee
Multiparty System is found in

(1) China (2) Britain (3) USA
T DErsiw D Bisnd” escendiHod ?

(1) == (2) Dexs (3) eobse

The term ‘Sovereignty’ is derived from

(1) Supreme (2) Superanus (3) Superior
TSI ATES0 ) BS50 Koo (RrotedSss 2 '
(1) o (2) Rosoesd (3) obBand

(4) People

(4) oo

(4) India

(4) zodare

(4) None of these

(4) D& =

Which one of the following countries has the Lengthiest Constitution ?

(1} France (2) Canada (3) Australia
51 300 TE" DB e 2 ToEroiEw $DR &od 7

(1) & (2) e (3) ejbarr
Which is not the method of Direct Democracy 7

(1) Referendum (2) Recall (3) Initiative
& 300 TIE” Dy Perdsig HEA 00 I8 9

(1) Cerdrahd EUe(2) Huoorabbs (3) oo
Plural executive is found in

(1) USA (2) India (3) Britain
25 8% SOUTUERE 00 esonnd” Gy Besn

(1) esdooze (2) smodarr (3) Beos

What is the proposed strength of Plato’s Ideal State ?
6T Gloug), e, Tesg TR Dot 7

(1) 10,000 (2) 20,000 (3) 5,040

Course Code-1 ' [30]

(4) India

(4) sodare
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(4) oS5

(4) Switzerland
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148.

146.

147.

148.

148.

150.

Course Code -1

Who is the father of ‘Modern Political Science' ?
(1) Plato (2) Aristotle (3) Machiavelli
QIGE T T DTDTOCHD ?

(1) o (2) ewouis (3) srdasnd

The concept of ‘Rule of Law' was firstly found in

(1) Britain (2) USA (3) France
RETO0 D0 e 2SS Doy O TBESd” etiend’ gob ¢

(1) des (2) b (3) o5
“Theocratic State’ is found in

(1) India (2) China (3) SaudiArabia
2508 TPasgio essioend gidy B

(1) zodare (2) 2= (3) 25 edfae
The concept of ‘Judicial Review’ is found in

(1) Brtain (2) USA (3) China
THOD BALFHT T @oesd’ ddy BEsD

(1) &35 (2) ea0s (3) 2o
‘Surplus Value' is the feature of

(1) Socialism (2) Communism  (3) Fascism
00 DS’ 2 T oFEs ?

(1) rsogresn (2) Ssomgdaso (3) e
Who is the author of ‘On Liberty’ ?

(1) Bentham (2) Hegel (3) J.S. Mill
“esS Dexl" (otsEY D5 2

(1) 8o (2) A& (3) 2. anh 28
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(4)

(4)

(4)

(4)

(4)

(4)

(4)

J. S. Mill

2. bR, &

India

Zosate

Britain

e

Pakistan

S

Gandhism

odoess

H. J. Laski

5.2 e)"?ozr
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